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1. Solve the following equation 9x - 7i > 3(3x - 7u)

2. Find the area and perimeter of the figures.

1
1
|
4x - 10 in i 5x in
|
1
1

2x +15in

3. The perimeter of the solid rectangle and the perimeter of the dotted
rectangle is the same. Write an equation and solve for x.

4. What is the actual area and perimeter of the rectangles?
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1. Solve the following equation 9x - 7i > 3@[.1)
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2. Find the area and perimeter of the figures
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3. The perimeter of the solid rectangle and the perimeter of the dotted
rectangle is the same. Write an equation and solve for x.

1w +lO= x - 20 |
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- +10 = -30
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4. What is the act_ual aréa and perimeter of the rectangles?
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What ‘Method?

(25x - 10x%) + (8x - 5x?)

(2 + 2x + 1)(10x% + 8x + 5)

(25x - 10x?) - (8x - 5x°)

(-2x%)(-x*8x5)

(2x + 1)(x - 2)

(-2X°)(-x* + 2x - 4)

February 14, 2019
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What ‘Method?

(25x% 10+ (2B
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(% + 2x + 1)(10x + Bx + 5) (2x + 1)(x - 2)
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(a—3)2a+4b—-"7)a+1)
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(X +2) (x> +4x-3)(x + 1)
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(x +2) (X + 4x - 3)(x + 1)
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Section 82: Determining the ‘Method

Combine Like
Terms (CLT)

1. Drop ()
2. Combine Like
Terms (CLT)

Additon )

change the
(25x - 10x%) + (8x - 5X)

Distribute the -1 to
each term inside
the parentheses

**do NOT
change the
exponents!

exponents!

Subtrct

(25x - 10x) - (8x - 5x)

||
ll\'

2 polynomials
(2x + 1)(10x* + 8x + 5)
(®+ 2x + 1)(10x* + 8x + 5)

2 monomials

(-2x%)(-x?8x5)

1. multiply coefficients
2 binomials

2. multiply like variables

(add exponents)

@2x + 1)(x - 2)

Use rectangle,

monomial and polynomial vertical, or
23 (X2 + 2x - 4 distributive
(2 x4 method

Use FOIL or the
rectangle, vertical,
or distributive
method

**always CLT
then write in
standard form
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Work on your Projects and
Review

| am here to help, so
come and see me with
any questions you have.
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